REQUEST FOR PROPOSAL

(Agency Name and RFP #)

Attachment A: Cost Sheet

B&B Energy Solutions

ATTACHMENT A

Item	Description	Unit of Measure	*Estimated Qty	Unit Cost	Extended Cost
1	Well Nomination, Prioritization	HR.	1000	\$425.00	\$425,000.00
2	Methane Emissions Quantification (MEQ) Testing (Per Well)	EA.	800	\$1,200.00	\$960,000.00
3	Permitting (report per well)	EA.	400	\$1,000.00	\$400,000.00
			тота	L COST	\$1,785,000.00

^{*}The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

ATTACHMENT A

Item	Description	Unit of Measure	*Estimated Qty	Unit Cost	Extended Cost
1	Well Nomination, Prioritization	HR.	1000	\$425.00	\$425,000.00
2	Methane Emissions Quantification (MEQ) Testing (Per Well)	EA.	800	\$1,200.00	\$960,000.00
3	Permitting (report per well)	EA.	400	\$1,000.00	\$400,000.00
		-			
			TOT	AL COST	\$1,785,000.00

^{*}The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

ATTACHMENT A

Item	Description	Unit of Measure	*Estimated Qty	Unit Cost	Extended Cost
1	Well Nomination, Prioritization	HR.	1000	\$425.00	\$425,000.00
2	Methane Emissions Quantification (MEQ) Testing (Per Well)	EA.	800	\$1,200.00	\$960,000.00
3	Permitting (report per well)	EA.	400	\$1,000.00	\$400,000.00
		+			
				[
			TOTA	AL COST	\$1,785,000.00

^{*}The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

ATTACHMENT A

Item	Description	Unit of Measure	*Estimated Qty	Unit Cost	Extended Cost
1	Well Nomination, Prioritization	HR.	1000	\$425.00	\$425,000.00
2	Methane Emissions Quantification (MEQ) Testing (Per Well)	EA.	800	\$1,200.00	\$960,000.00
3	Permitting (report per well)	EA.	400	\$1,000.00	\$400,000.00
		-			
			TAT	AL COST	\$1,785,000.00

^{*}The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.